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 A B 

 C D 
200-

250 400-450
Note :  Part A and B of each equation in each unit consist

of very short answer type questions which are to
be answered in one or two sentences.

 Part C (Short answer type) and D (Long answer
type) of each question should be answered within
the word limit 200-250 and 400-450 words.

I
Unit-I

1. (A) 2

What is Absorption Costing ?

(B) 2

What is Shut down point ?

(C)
4

What is the role of marginal costing in the
decision of ‘Make or Buy’ ?

Or

Explain the concept of cost-volume-profit.

(D) 12

2019-20 ` 2,00,000 ` 10,000

2020-21 ` 1,40,000 ` 2,000

(i)

(ii) 

(iii) 12

Year Sales Profit/Loss

2019-20 ` 2,00,000 ` 10,000

2020-21 ` 1,40,000 ` 2,000 (Loss)
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Find out :

(i) P/V Ration,

(ii) Fixed Cost,

(iii) Break Even Point.

Or

‘Explaning a new market is an important target of
each firm whether operating in domestic market
or in export market.’ In light of the statement
discuss the role of marginal costing.

II

Unit-II

2. (A) 2
What is meant by different cost ?

(B) 2

What is Relevant Cost ?

(C) 4

Differentiate between marginal and differential
costing.

Or

What are the four major distinct properties of
differential cost.

(D)
12

What are the uses of differential costing ? Explain
the role in decision making.

Or

80% 

12,000 

` 6,000

` 42,000

` 24,000

` 14,000

` 40,000

` 2,40,000

1,500 
` 14 
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` 500 

Flexible budget at 80% capacity is given below :

Production 12,000 Units

Materials ` 6,000

Wages ` 42,000

Overheads : Variable ` 24,000

  Semi Variable ` 14,000

  Fixed ` 40,000

Sales ` 2,40,000

An offer for additional 1,500 units sale is a
available if it is supplied at ` 14 per unit. If the
semi-variable overheads increase only by ` 500
for the additional production, can it be advised to
accept the offer.

III
Unit-III

3. (A) 2

What is Budgetory control ?

(B) 2

What is meant by Flexible Budget ?

(C) 4

Discuss the limitations of Budgetory control.

Or

Describe the essential steps of a budgetory control
system.

(D)
12

Explain the meaning of cash budget and discuss
the method of receipts and payments for preparing
it.

Or

1000 

`

50

30

20

10

Code No. : B04–216

P. T. O.

Code No. : B04–216



5

(` 5,000 15

20% 10

100% 6

` 146

800 600 

The expenses budget for production of 1000 units
in a factory are given below :

Per Unit

`

Material 50

Laboure 30

Variable Overhead 20

Fixed Overhead 10

Direct Expenses 5

Selling Expenses (` 5000 fixed) 15

Distribution expenses (20% fixed) 10

Admn. expenses (100% fixed) 6

` 146

Prepare a budget for production of 800 units &
600 units and find out the unit cost at each level.

IV

Unit-IV

4. (A) 2

What is Responsibility Centre ?

(B) 2

Give the definition of Responsibility Accounting.

(C) 4

Differentiate between cost centre & responsibility
centre.

Or

What is meant by Internal Rate of Return ?

(D)

12

Discuss the main methods which are generally
used for analysing and evaluating capital
expenditure projects.
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Or

A B
` `

1 2,000 3,000
2 1,500 3,000
3 1,500 2,000
4 1,000 1,000
5 — 1,000

6,000 10,000
12% 

Projected Net Income (after interest, depreciation
and taxes)

Year Project-A Project-B
` `

1 2,000 3,000
2 1,500 3,000
3 1,500 2,000
4 1,000 1,000
5 — 1,000

6,000 10,000
If the required rate of return is 12% which project
should be undertaken ?
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